Pre-Calculus 11
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Section 2.5 — Proficiency Check

Solve the following Radicals:
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What is the Domain Restriction of the following?
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Solve. Check for Extraneous Roots.
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Solve the following Check for Extraneous Roots and Identify Domain Restrictions.

Proficient Extending
%-§ 720 —8+VBa—5=-3 VXF7+V2x—3=4 - [2-3
Sa-?lg +9 +e -z
c )
s = e 8
o= ‘5 ,4-@4 ‘21‘——2"—3; ,\
. 7 iy
Se.-€ 7 25 A = CH~JL—3'K‘%~J&~5') AN
< 2 $3
S = 30 = o BV2<3 * 2e~3 LA
. i /|
azG 8‘12,4_-—3"-:%’3"’ x -+ il
‘] g Q;_x,3‘:')<+-é>
c ol 23 (pGas!) = (x46)
~gel 2w '=-3 ci(ax-3) = X +\lx ¥36

-Q+5=-3
/3&’3 ',/

Adrian Herlaar, School District 61

(28x ~1a2 7 X2 436 — de@o\

0= wr—ilb x +228 I x-:..z,i
o= (x-11H)x=2)
k=14 x=2Z

w.mrherlaar\weebly.com
chacke: .lim-t-‘:(-l -ei'z(uqaal = & [alad'=24

il + 1S =4 PPE w=hy



